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1) 4x+2=-6 2) —9x+1=-35

3) 7x—9=8x 4) —15x—16=—11x
5) 3x+1=x-7 6) —2x+15=6x—17
7) 4(x—5)=6 8) 7—-2(x—4)=9

9) (Bx—9)—(2x—5)=8 10) —7(x+5)+4(x+6)=7
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1) —-0.8x+1.1=-0.5 2) 1.3x—1.5=1.1
3) 5.1—1.4x=-0. 8x 4) 1.9x—3.5x=-2.4
5) 2.5x+3.1=1.6x+0.4 6) 1.2x—0.5+1.8—-0.9x=1.6

7) 1.4(x—5)—0.9(x—2)=0.3 8) 0.8(2x+1)+0.3(1—x)=—1.5

9) 2(1.3x+0.4)—(0.9x—0.7)=-1.9 10) 1.9x—1.5=0.6x+1.1
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b > it

3) gx—§=gx 4) —%x+§=%x

5) gx—§=%x—% 6) %—%x=%x+§
D Aex+n-3=2 g) 253
9) 2(x+5)—3 (x—2)=2 10) H-x8_xi3
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1) x :5=4:8 2) 7 :x=2:4
3) 7:2x=14 : 6 4) 8 : 6=6x : 9
5) 1.2 :0.8=3.6 : x 6) 2.1 :0.7=0.2x : 0.4
7D 2x:4=3:1 8) 2 :i=x:2

9) 5: (2x—1)=7 : 21 10) 4 :12=8 : (x+2)
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1) x=—2 2) x=—23 3) x=21  4) x=6 5) x=—§
6) x=—§ 7) x=3 8) x=—12 9) x=—2 10) x=—§
2) KE—RE (2R X108 A B
1) x=—2 2) x=4 3 x=—9 4) x=—4 5) x=—4
6) x=4 7) x=% 8) x=3 9) x=12 10) x=—6
3) KE—RE (2R X108) A B
1) x=2 2) x=2 3) x=¥ 4) x=§ 5) x=-3

6) x=1 7) x=11 8) x=-2 9) x=-2 10) x=2

4) KE—ME (2% 108) A B
Hx=Y 2x=Z 3y x=-Z pHx=t 5 x=—-3
) x=1o N x=2 8 x=3 9 x=-I 10) x=—1
5) &WE—ME (2% 108) A B

1) x=§ 2) x=14 3) x=§ 4) x=2 5) x=2.4 or %

6) x=6 7) x=2?4 8) x=2 9 x=8 10) x=22



